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6 x15+3— 5(§ + 5.8) _ (2.8 5.6) x3—37

11 3 2
——=3(=+353)= - +5-3(=+23)=
73 +53) = x10+5-3(5 +23)
_ 1 3
59+ 5(5.7+4.4) 12(= —3.9)+4x5—- =
2 4
3] 2 3 2
2 yx3-21-= 20(5 = 2)+5x4+ 2 =
3+3) 03 =7 73x4+3

3 . _
1 33.7+5.8)= 2022+24)+5%x2+4.1
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1 3 187 1 121 1
—x15+3=5(=+58)=(——)= (-31- 28=5.6)x3-3"7=(——)=(12—
- (5+58)=(—)=(3l2)  (28-56)x (=) = (125

i—?,(é +53) = (—%) = (—16%) % x 10 +5—3(§ +23)= (—%) = (—6%)
59+5(5.7+44) = % = 56% 12(% —3.9)+4x5— % = (—g) = (—51%)
(%+%)x3—2.1=%=3% 20(§—§)+5x4+§=(—§)

% —3(3.7+5.8)= (—%) = (—27%) 2022+ 24)+5x2+4.1 = % = 40%
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